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12 Oregon St 0.7553 1.277778 - 0.7826087
2 Houston 0.2447 3.600000 0.2777778 Sorr Y.,

3 Arkansas 0.7737 1.327869 - 0.7530864
1 Baylor 0.2263 3.450000 0.2898551
6 USC 0.7726 1.229885 - 0.8130841
1 Conzaga 0.2274 4.250000 0.2352941
11 UCLA 0.6486 1.289855 0.7752809
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a the odds paid on the occurrence of the s’th transmitted symbol, i.e., ag
is the number of dollars returned for a one-dollar bet (including that one

dollar). SE {1/ 2}
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team * opp * teamWon ~ p * alpha * ml * impliedp * plusEV
2 Houston 12 Oregon St 0.7553 1.277778 -360 0.7826087
12 Oregon St 2 Houston = 3.600000 260 0.2777778
1 Baylor 3 Arkansas 3 1.327869 0.7530864
3 Arkansas 1 Baylor 3.450000 0.2898551
1 Conzaga 6 USC 1.229885 0.8130841
6 USC 1 Conzaga 0.2274 4.250000 0.2352941
1 Michigan 11 UCLA 0.6486 1.289855 0.7752809
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11 UCLA 1 Michigan 0.3514 3.750000 0.2666667
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WH:, Qﬂpi (a) er%m%di?es so)that p(s)as = p(s+ 1)as4+1

team * opp * teamWon ~ * alpha * * implied.p * plusEV * p.times.alpha ~
1 2 Houston 12 Oregon St 0.7553 1.277778 0.7826087 0.9651056
2 12 Oregon St 2 Houston 0.2447 3.600000 50 0.2777778 0.8809200
3 1 Baylor 3 Arkansas 0.7737 1327869  -305  0.7530864 1.0273721
4 3Arkansas 1 Baylor 0.2263 3.450000 0.2898551 0.7807350
S5 6USC 1 Conzaga 0.2274 4.250000 0.2352941 0.9664500
6 1 Gonzaga 6 USC 0.7726 1.229885 0.8130841 0.9502092
7 11 UCLA 1 Michigan - - . 0.2666667 1.3177500
8 1 Michigan 11 UCLA .6486 . 5 0.7752809 0.8366000
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team > opp * teamWon *~ alpha * ml  * implied.p * plusEV * ptimesalpha * FO0 * F.1 St

2 Houston 12 Oregon St 1.277778 -360 0.7826087 0.9651056 1 1.1256200 1.0000000
12 Oregon St 2 Houston 3.600000 260 0.2777778 0.8809200 NA NA NA 1.0000000
1 Baylor 3 Arkansas 1.327869 -305 0.7530864 1.0273721 0.9165150 0.9165150
3 Arkansas 1 Baylor 3.450000 245 0.2898551 0.7807350 NA NA NA 1.0000000
6 USC 1 Gonzaga 4.250000 0.2352941 0.9664500 IUEYES 1.0000000
1 Gonzaga 6 USC 1.229885 0.8130841 0.9502092 NA NA NA 1.0000000

11 UCLA 1 Michigan 3.750000 0.2666667 1.3177500 0.8844545 0.8844545

1
2
3
4
5
6
7
8

1 Michigan 11 UCLA 1.289855 0.7752809 0.8366000 NA NA VA 1.0000000
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¢) Set a(s) = p(s) — b/a or zero, whichever is larger. (The a(s) will sum to
KQ\\J&L%\% ()l_b‘()) p(s) — b/e, ger. ( (s)

HeRe' a=ldb, sihe 2 owtloner poR - Jame

team > opp * teamWon * p * alpha * ml  * impliedp * plusEVv * ptimesalpha * b v a ® a :

2 Houston 12 Oregon St 1.277778 - 0.9651056 1.0000000 0.0000000 0.00000000
12 Oregon St 2 Houston EX b 0 7 0.8809200 1.0000000 0.0000000 0.00000000
1 Baylor 3 Arkansas 1.327869 0.7530864 1.0273721 0.916515C_0.0834850 0.04174250
3 Arkansas 1 Baylor » 3.450000 0.2898551 0.7807350 1.0000000 0.0000000 0.00000000
6 USC 1 Gonzaga b 4.250000 0.2352941 0.9664500 1.0000000 0.0000000 0.00000000
1 Gonzaga 6 USC 0.7726 1.229885 30841 0.9502092 1.0000000 0.0000000 0.00000000

11 UCLA 1 Michigan 0.3514 3.750000 0.2666667 | 1.3177500 0.8844545' 0.1155455 0.05777273
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1 Michigan 11 UCLA 0.6486 1.289855 52809 0.8366000 1.0000000 0.0000000 0.00000000
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team > opp * teamWon ~ alpha * ml  * impliedp * plusEV * ptimesalpha * a * bet * profit

2 Houston 12 Oregon St 0.7553 1.277778 6 7 0.9651056 0.00000000 0.00000 0.00000
12 Oregon St 2 Houston 0.2447 3.600000 ( 77777 0.8809200 0.00000000 0.00000 0.00000
1 Baylor 3 Arkansas 0.7737 1.327869 1.0273721 0.04174250 41.74250 13.68607
3 Arkansas 1 Baylor 0.2263 3.450000 C 0.7807350 0.00000000 0.00000 0.00000
6 USC 1 Gonzaga 0.2274 4.250000 0.2352941 0.9664500 0.00000000 0.00000 0.00000
1 Gonzaga 6 USC 0.7726 1.229885 0.8130841 0.9502092 0.00000000 0.00000 0.00000
11 UCLA 1 Michigan 0.3514 3.750000 0.2666667 1.3177500 0.05777273 57.77273 158.87500
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1 Michigan 11 UCLA 0.6486 1.289855 0.7752809 0.8366000 0.00000000 0.00000 0.00000
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Bankroll.Name Bankroll Gained @S‘a&\‘ \/\Jnxﬁ,\ $ JOW

<chr> <dbl> <dbl>
1 initial bankroll 1000 9 Rd|-owel. 2
2 post First 4 878. HL@H
3 post Round 1 887. M
4 post Round 2 817. W\AMQ%MD_Q
5 post Sweet 16 843. N
6 post Elite 8 989. 9 PQO%{ \ Too\e
7 post Final 4 955. \p@ff\jﬁ ‘9
8 final bankroll 1125° Y\\‘j W ¥ne \SS(%N(L

(owwes

Bankroll.Name Bankroll Gained o K@\'WWQ (\J('\% F('QS’\’ L\
<chr> <dbl> <dbl> Jawes ’ WMy W

initial bankroll 1000
post Round 1 1011. Know ade \M\Q{lQa\i(ko\b

post Round 2 931. QM\\SU%O m\\ﬂ

post Sweet 16 9%1.

post Elite 8 1126. g% beieq)
o

post Final 4 1087.
final bankroll 1282




